/ > captainls Pak ® 5[?0';)%%}8??:010500
£BIG JON (ne-Hand-Crank
SPof73 Manual Siderigger

Rod Sections Of
Three Piece Rods
Are Shown
Foreshortened

Not To Be Used
As A 5 Foot Rod

WARNING !

Incorrectly threaded downrigger
cable will damage pulleys!

2—={  Big Jon Sports? Inc. ® 11455 US-31 e Interlochen, Ml 49643 Rev-No- 3 s
(231) 275-1010  Fax: (231) 275-1009 By: PRL
Incorrect email: emailus@bigjon.com ® website: www.bigjon.com

Detail No. Description Qty. Order By Part No.
1 Brass Collar Ring 1 2177
2 Shaft Collar 1 51408
3 Shaft 1 51756
4 Thrust Washers 4 2512B
5 Thrust Bearings 2 2512A
6 Clutch Bearings 1 2512
7 Counter Spring 1 2284
8 8 in. Reel 1 51407
9 Clutch Disk Inner 1 51098
10 Nylon Pad 1 2306
11 Graphite Pads 2 2307
12 Clutch Disk Outer 1 51097
13 Belleville Washers 2 2246
14 E-Clip 1 2178
15 OHC Threaded Insert 1 51405
16 Shaft End Screw 1 2153
17 Acorn Nut 1 51406
18 Bolt w/ Sleeve 1 2005/51085
19 Handle 1 51161

20 Handle Arm 1 52508
21 5/16 in. Hex Nut 1 2121
22 Counter Screws 2 2014
23 Counter w/ Small Wheel 1 FC60035
24 10-32 x 1-1/4 in. SS SHC Screws 4 2022
25 Arm 1 51800
26 Threaded Arm Block 1 51018
27 Line Guide 1 BJ3049SRG
28 12 in. Rods 2 51048
29 Rod Collars 2 51044
30 18 in. End Rod 1 51125
31 5 Spoke Tip Assembly 1 BJ3049
32 Aluminum Tip Retainer 1 51043
33 Tip Retainer Ring 1 2181
34 Pivot Shaft 1 51808
35 Stop Pin 1 51807
36 Spacer 1 2199
37 Upright 1 51806
38 Latch Assembly 1 51227
39 1/4-20 x 1 in. SS Bolts 4 2012
40 6 Hole Base Plate 1 51003
41 5/16-18 x 1 in. Upright Screws 2 2003
42 S-Plate 1 52453
43 Swivel Base SMT1 1 SMT1
44 1/4-20 x 5/8 in. Flat Head Screws 4 2013
45 8 Hole Mounting Plate 1 51001
46 1/2-20 x 2 in. HHCS Bolt 1 2351
47 1/2 in. SS Lock Washer 1 2241
48 Multi-Set Tube & Plug w/ Cap 1 51221
49 1/2 x 2-1/4 in. Pivot Pin 1 55555
50 Multi-Set Spring 1 2600
51 Multi-Set Barrel 1 55551
52 1/4-20 x 3/8 in. Slotted Truss Hd. Scr. 1 2158
53 Multi-Set Igloo w/ Pin 1 55556
54 1/4-20 Set Screw 1 2261
55 1/4-20 x 3/4 in. Fl Hd Cap Screw 1 2009
56 3/8 in. Split Lock Washer 1 2237
57 3/8 in. Jam Nut 1 2113




